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X,| 0.66 | 0.43 0.3 |—0.16{—0.31{—0.39| 0.18 | 0.06 | 0.17 | 0.13 |—0.35| 0.25 [—0.02] 0.36 |—0.33
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1. 64 1.64|—1.64] 0.39 0.39|—1.64|—1.64|—1. 64| 1.64 0.39| 1. 64 | 1.64 0.39] 0.39 | 1.64 | 21.04
1.64 |—1.64|—1.64| 0.39 |—0.39|—1.64|—1.64] 0.39 | 1.64 |—0.39| 1.64 | 1.64 |—0.39| 0.39 | 1.64 | 16.01
1.64 |—1.64|—1.64|—1.64|—0.39|—1.64|—1.64| 0.39 | 1.64 |—0.39| 1.64 | 1.64 |—0.39] 0.39 | 1.64 | 10.40
1. 64 1.64|—1.64|—1.64|—0.39]—1.64|—1.64| 0.39 | 1.64 0.39| 1. 64 0.39/—0.39| 0.39 | 1.64 | 10.04
1.64 |—1.64|—1.64|—1.64|—0.39|—1.64|—1.64] 0.39 | 1.64 |—0.39| 1.64 |—0.39]—0.39|—1.64| 1.64 | 8.60
1.64 | 0.39 |—1.64|—1.64|—0.39|—0.64|—0.64| 0.39 | 1.64 |—0.39| 1.64 | 0.39 |—0.39|—1.64] 1.64 | 13.39
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TURONE T ¥k
£
4

X, X, X, X, X X, X; X X, X X, X, X X, X Y

1.64 | 0.39 |—1.64|—1.64|—0.39|—1.64|—1.64| 0.39 | 1.64 |—0.39| 1.64 |—0.39]—0.39|—1.64/—0.39| 4.69

1.64 | 0.39 |—1.64|—1.64|—0.39|—1.64|—1.64| 0.39 | 1.64 | 1.64 | 1.64 |—0.39]—0.39|—1.64|—0.39| 8.02

1.64 | 0.39 |—1.64|—1.64| 1.64 |—1.64|—1.64| 0.39 | 1.64 | 1.64 | 1.64 |—0.39|—0.39|—1.64/—0.39| 9.98

1.64 | 0.39 |—1.64|—1.64| 1.64 |—1.64|—1.64| 0.39 | 1.64 | 1.64 |—0.39/—0.39|—0.39|—1.64/—0.39| 3.75

1.64 | 0.39 |—1.64|—1.64| 1.64 |—1.64| 0.39 | 0.39 | 1.64 | 1.64 |—0.39/—0.39|—0.39|—1.64/—0.39| 1.33

1.64 | 0.39 | 0.39 |—1.64| 1.64 |—1.64] 0.39 | 0.39 | 1.64 | 1.64 |—0.39/—0.39|—0.39|—1.64| 0.39 | 2.59
—0.39] 0.39 | 0.39 |—1.64| 1.64 |—1.64] 0.39 | 0.39 | 1.64 | 1.64 |—0.39)—0.39|—0.39|—1.64/—0.39] 6.37
—0.39] 0.39 | 0.39 |—1.64| 1.64 |—1.64] 0.39 | 0.39 | 1.64 | 1.64 |—0.39)—0.39| 1.64 |—1.64[—0.39] 9.99

1,

X, X, X, X, X, X, X, X X, X X, X, X X, X Y
—0.39/—0.39] 0.39 | 0.39 |—0.39]—0.39|—0.39|—1.64| 0.39 |—1.64| 0.39 |—0.39|—0.39| 1.64 | 1.64 | 14.04
—0.39)/—0.39] 0.39 | 0.39 |—0.39/—0.39|—0.39|—1.64] 0.39 |—1.64| 0.39 |—0.39] 1.64 | 1.64 | 1.64 | 12.86
—0.39/—0.39| 0.39 | 0.39 |—0.39]—0.39| 1.64 |—1.64| 0.39 |—1.64| 0.39 |—0.39| 1.64 | 1.64 | 1.64 | 15.42
—0.39/—0.39] 0.39 | 0.39 |—0.39]—0.39| 1.64 |—1.64|—1.64|—0.64| 0.39 |—0.39| 1.64 | 1.64 | 1.64 | 14.56
—0.39] 1.64 | 0.39 | 0.39 |—0.39/—0.39| 1.64 |—1.64|—1.64|—1.64| 0.39 |—0.39] 1.64 | 1.64 | 1.64 | 6.17
—0.39] 1.64 | 0.39 | 0.39 | 1.64 |—0.39] 1.64 |—1.64|—1.64|—1.64| 0.39 |—0.39| 1.64 | 1.64 | 1.64 | 0.96
—0.39) 1.64 | 0.39 | 0.39 | 1.64 |—0.39| 1.64 |—1.64|—1.64[—1.64| 0.39 | 1.64 | 1.64 | 1.64 | 1.64 | 2.91
—0.39| 1.64 |—1.64] 0.39 | 1.64 |—0.39| 1.64 |—1.64|—1.64|—1.64| 0.39 | 1.64 | 1.64 | 1.64 | 1.64 |—3.65
—0.39] 1.64 |—1.64| 0.39 | 1.64 | 1.64 | 1.64 |—1.64|—1.64|—1.64| 0.39 | 1.64 | 1.64 | 1.64 | 1.64 | —6.31
—0.39) 1.64 |—1.64] 0.39 | 1.64 | 1.64 | 1.64 |—1.64|—1.64|—1.64| 0.39 | 1.64 | 1.64 | 1.64 |—0.39/—0.70
—0.39) 1.64 |—1.64] 0.39 | 1.64 | 1.64 | 1.64 |—1.64|—1.64|—1.64|—1.64| 1.64 | 1.64 | 1.64 |—0.39|—11.79
—0.39] 1.64 |—1.64| 0.39 | 1.64 | 1.64 | 1.64 |—1.64|—1.64|—1.64|—1.64| 1.64 | 1.64 |—0.39]—0.39|—16.95
—0.39| 1.64 |—1.64] 0.39 | 1.64 | 1.64 | 1.64 |—1.64|—1.64| 0.39 |—1.64| 1.64 | 1.64 |—0.39|—0.39|—15.54
—0.39] 1.64 |—1.64] 0.39 | 1.64 | 1.64 | 1.64 | 0.39 |—1.64| 0.39 |—1.64| 1.65 | 1.65 |—0.39/—0.39|—3.01
—0.39] 1.64 |—1.64|—1.64| 1.64 | 1.64 | 1.64 | 0.39 |—1.64| 0.39 |—1.64| 1.64 | 1.64 |—0.39]—0.39| —2.12

1.64 | 1.64 |—1.64|—1.64] 1.64 | 1.64 | 1.64 | 0.39 |—1.64| 0.39 |—1.64| 1.64 | 1.64 |—0.39|—0.39|—14. 36
t
X, X, X, X, X, X, X X X, X X, X, X X, X Y
0.39 | 0.39 |—0.39/—0.39] 0.39 | 0.39 |—1.64| 0.39 |—0.39] 1.64 |—0.39| 0.39 |—1.64| 1.64 |—1.64| 3.96
0.39 | 0.39 |—0.39[—0.39[ 0.39 | 0.39 |—1.64] 0.39 |—0.39| 1.64 | 1.64 | 0.39 [—1.64| 1.64 |—1.64] 2.92
0.39 | 0.39 |—0.39] 1.64 | 0.39 | 0.39 |—1.64| 0.39 |—0.39] 1.64 | 1.64 | 0.39 |—1.64| 1.64 |—1.64| 9.78
0.39 | 0.39 |—0.39] 1.64 | 0.39 | 0.39 |—1.64] 0.39 |—0.39| 1.64 | 1.64 |—1.64|—1.64| 1.64 |—1.64| 1.96
—1.64| 0.39 |—0.39] 1.64 | 0.39 | 0.39 | 0.39 | 0.39 |—0.39| 1.64 | 1.64 |—1.64|—1.64] 1.64 |—1.64|—5.53
—1.64] 0.39 |—0.39] 1.64 | 0.39 | 0.39 | 0.39 | 0.39 |—0.39| 1.64 | 1.64 |—1.64|—1.64| 1.64 |—1.64] 1.87
—1.64| 0.39 | 1.64 | 1.64 | 0.39 | 0.39 | 0.39 | 0.39 [|—0.39| 1.64 | 1.64 |—1.64|—1.64] 1.64 |—1.64|—0.45
—1.64|—1.64| 1.64 | 1.64 | 0.39 | 0.39 | 0.39 | 0.39 |—0.39] 1.64 | 1.64 |—1.64|—1.64| 1.64 |—1.64|—3.81
—1.64)/—1.64| 1.64 | 1.64 | 0.39 | 0.39 | 0.39 |—1.64|—0.39| 1.64 | 1.64 |—1.64|—1.64| 1.64 |—1.64] 0.78
—1.64|—1.64| 1.64 | 1.64 |—1.64| 0.39 | 0.39 |—1.64|—0.39| 1.64 | 1.64 |—1.64|—1.64] 1.64 | 1.64 | 0.27
—1.64/—1.64| 1.64 | 1.64 |—1.64| 0.39 | 0.39 |—1.64] 1.64 | 1.64 | 1.64 |—1.64|—1.64| 1.64 |—1.64| 0.17
—1.64)/—1.64| 1.64 | 1.64 |—1.64|—1.64] 0.39 |—1.64| 1.64 | 1.64 | 1.64 |—1.64|—1.64| 1.64 |—1.64] —5.89
—1.64|—1.64| 1.64 | 1.64 |—1.64|—1.64| 0.39 |—1.64] 1.64 | 1.64 | 1.64 |—1.64] 0.39 | 1.64 |—1.64|—0.63
—1.64|—1.64| 1.64 | 1.64 |—1.64|—1.64] 0.39 |—1.64| 1.64 | 1.64 | 1.64 |—1.64] 0.39 | 1.64 | 0.39 8. 37
—1.64)|—1.64| 1.64 | 1.64 |—1.64|—1.64] 0.39 |—1.64| 1.64 | 1.64 | 1.64 |—1.64| 0.39 |—0.39] 0.39 5.65
—1.64|—1.64| 1.64 | 1.64 |—1.64|—1.64| 0.39 |—1.64] 1.64 [—0.39| 1.64 |—1.64| 0.39 |—0.39| 0.39 |—1.91
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4 R 47

t
X, X, X, X, X X X; X X, X X X X X, Xis Y
1.64 |—0.39| 1.64 |—0.39| 0.39 | 0.39 |[—1.64| 1.64 |—1.64|—1.64| 0.39 | 0.39 |—1.64] 0.39 | 0.39 5.05
1.64 |—0.39| 1.64 |—0.39|—1.64| 0.39 [—1.64| 1.64 [—1.64|—1.64| 0.39 | 0.39 |—1.64] 0.39 | 0.39 3.91
1.64 |—0.39] 1.64 1.64 |—1.64| 0.39 |—1.64| 1.64 |—1.64|—1.64] 0.39 | 0.39 [—1.64] 0.39 | 0.39 6. 81
1.64 |—0.39| 1.64 | 1.64 |—1.64| 0.39 |[—1.64| 1.64 |[—1.64| 0.39 | 0.39 | 0.39 |—1.64] 0.39 | 0.39 5.58
1.64 | 1.64 | 1.64 | 1.64 |—1.64] 0.39 |—1.64| 1.64 |—1.64] 0.39 | 0.39 | 0.39 |—1.64| 0.39 | 0.39 |11.79
1.64 | 1.64 | 1.64 | 1.64 |—1.64] 0.39 [—1.64| 1.64 |—1.64] 0.39 | 0.39 | 0.39 |—1.64| 0.39 |—1.64| 5.00
1.64 | 1.64 | 1.64 | 1.64 |—1.64| 0.39 |—1.64| 1.64 |—1.64| 0.39 |—1.64| 0.39 |—1.64] 0.39 |—1.64] 0.77
—0.39] 1.64 | 1.64 | 1.64 |—1.64| 0.39 |—1.64] 1.64 |—1.64| 0.39 |—1.64| 0.39 |—1.64| 0.39 |—1.64| 1.38
—0.39) 1.64 | 1.64 | 1.64 |—1.64| 0.39 |—1.64| 1.64 [—1.64| 0.39 |—1.64] 0.39 |—1.64[—1.64]—1.64/10.16
—0.39] 1.64 | 1.64 | 1.64 |—1.64] 0.39 |—1.64| 1.64 | 1.64 | 0.39 |—1.64| 0.39 | 0.39 |—1.64|—1.64] 3.51
—0.39| 1.64 | 1.64 | 1.64 |—1.64| 0.39 |—1.64] 1.64 | 0.39 | 0.39 |—1.64| 0.39 | 0.39 [—1.64|—1.64|10.29
—0.39] 1.64 | 1.64 | 1.64 |—1.64| 0.39 |—1.64{—0.39] 0.39 | 0.39 |—1.64| 0.39 | 0.39 |—1.64|—1.64|—0.14
—0.39| 1.64 | 1.64 | 1.64 |—1.64] 0.39 |—1.64/—0.39| 0.39 | 0.39 |—1.64|—1.64] 0.39 |—1.64|—1.64]—9.34
—0.39] 1.64 |—0.39| 1.64 |—1.64] 0.39 |—1.64|—0.39] 0.39 | 0.39 |—1.64|—1.64| 0.39 |—1.64|—1.64|—7.57
—0.39] 1.64 |—0.39] 1.64 |—1.64| 0.39 | 0.39 |—0.39] 0.39 | 0.39 |—1.64|—1.64| 0.39 |—1.64|—1.64|—7.90
—0.39] 1.64 |—0.39] 1.64 |—1.64|—1.64] 0.39 |—0.39] 0.39 | 0.39 |—1.64|—1.64| 0.39 |—1.64|—1.64[—7.06
F3. 11 I STHETF X, BT R T
y(Xi+A,X ) y(X, X)) EE, (XD |EE, (XD |
t 2.59 6. 37 —5. 67 5. 67
t, —14. 36 —2.12 —18. 36 18. 36
t; 1. 96 —5.53 11. 24 11.24
ty 0.77 1. 38 —0.92 0.92
®3.12 ZISTAr=4/ HPENGR 3. 10ONFEEFH TR
2 2 3 [
X —5.67 —18. 36 11. 24 —0.92
X, 7.18 —12.58 5. 04 9.31
X, 1. 89 9. 84 —3.47 —2.66
X, 8.42 —1.33 10. 29 4. 34
Xs 2.93 —7.82 1. 57 1.71
X 3.28 —3.99 9.10 —1.25
X; —3.62 3.85 11.1 —0.5
Xs —7.55 18. 8 —6.89 15. 65
X, —2.51 1. 30 0. 66 10. 18
X 9. 34 16. 64 —1.56 6. 35
X 0. 54 2.93 11.72 13. 81
X3 5. 43 —1.78 7.90 20.5
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ExE:

TEREL T
ty Lty 13 ty
Xu 2.15 7.74 4. 08 17. 31
X5 13.05 —8.41 13. 49 10. 19
Ban, X, By 3 AU I BE 45 3
— K5 J— —
W(X,) = — 56718 364+11. 24—0.92 __ 4 ,,
LX) = 5.67—5—18.361—11.24—0—0. 92 _ o o5
_ 2 _ 2 2 = 2
S(X,) — /( 2.24)" + (— 14. 93>3+<14.67> +(2.5D° _ 1, 9y

313 2~4FIRW T Oakley-O'Hagan pREAE r= 4 I SO 73 BT 1) 45

For=10 MERFERAELR PO T NILER AN S . &G MSIRY T T
f BT A5 B 15 26— I SRR 45 B e (L

% 3.13 Oakley-O’Hagan HEE r=4 BRI THNER . r=10 HERBHEERPIIHT.
NIt BRHWAEMS RENAIIKPATEFHAEMNSE — M KEEHNS TE
r=4 r=10 Analytics | Analytics
© 1z o © iz o St S

X, 9.05 —3.42 12. 24 6.21 0.98 6. 77 0.059 0.002
X, 8.53 2.24 10. 03 3. 35 1. 28 4. 46 0.063 0. 000
X; 4.46 1. 40 6. 10 6. 54 0.77 7.59 0.036 0.001
X, 6.09 5.43 5. 14 4. 54 0.63 5.49 0. 055 0.003
X; 3.51 —0.4 4. 98 3.13 —0. 67 4.51 0.024 0.003
X5 4. 40 1.78 5.72 5.93 3.58 7.76 0. 041 0.023
X 4. 77 2.71 6. 38 7.18 4.72 8. 36 0. 058 0.024
X 12.22 5. 00 14. 17 5.26 2. 38 6. 30 0. 082 0. 027
X 3. 66 2.41 5. 44 8.25 7.10 7.87 0.097 0. 046
X0 5.07 4. 15 5. 04 2.79 1. 04 3.91 0.036 0.015
X 8. 47 7.69 7.53 8. 82 8. 82 5. 82 0. 151 0.102
X2 7.25 7.25 6. 50 8.33 8. 33 4.12 0.148 0.136
X3 8.91 8.02 9.28 10. 65 7.95 9. 64 0. 142 0.102
X 7.82 7.82 6. 74 7.120 5.32 6.71 0. 141 0. 105
Xis 11.29 7.08 10. 43 7.83 7.83 4.01 0. 155 0.123

TESCH R r=4 AU B 0l T vk By B 531 IR B AR X B N R R
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4 RS

Bl AT DA RE X FEHE S ST Bt AU R 25 7 2
T XL Oakley-O'Hagan pf ¥ 1) (0] 8 32 2202 i T 0T A KL X 8] 9 AH 5 493 v
T OSRERIAR SR M A, BN AR r= 10 FoiF TR AT G b 3 AR R A RS S
Hr. B 3.12 ZHIERT Oakley-O’'Hagan pREHT A M o MR E L, XA K% H
TAEIE AR p A3 B 1 AR EN S i R AR T RE Y . BRI o (EIER 1 X
5ok 2 A EAE I B9 A ¢, B AR TR EERO A 7 (X,
X)) Z [E A EAEH .

12

10

X X X X X X X X X X X X X, X Xy
¥

3.12 %3 5 i p % F Oakley-O’Hagan TE MR E . EFAT r=10 M i

6. iR G 55X T — 2R~ 19 R L IR T o LS B A R RO Y
WAAESR—dh . 32 3. 14 R RS G 24/ 15 AT RHE . IE e
Y5> 5 WL TR R IR A AT L o A U B S BOBORE RS B L AR R O I Rt
IR A R R E Y

R3.14 36 HIRBHAERE G 2B A5 HS 2B HIE (Oakley-O’Hagan F#,r=10)
X, X, X, X, X; X X; X X, X X, X, X X, X5 Y
0.39 |—0.39]—1.64| 0.39 |—0.39/—0.39] 0.39 | 0.39 |—1.64|—0.39| 0.39 |—1.64| 1.64 | 1.64 | 1.64 | 13.85
—1.64] 1.64 | 0.39 |—1.64] 1.64 | 1.64 |—1.64|—1.64|—1.64| 1.64 | 0.39 |—1.64| 1.64 | 1.64 | 1.64 [—10.11
—1.64| 1.64 | 0.39 |—1.64] 1.64 | 1.64 |—1.64|—1.64| 0.39 | 1.64 |—1.64| 0.39 |—0.39]—0.39[—0.39] 1.12
—0.39)—0.39] 0.39 |—1.64] 0.39 |—1.64| 1.64 | 1.64 | 0.39 |—1.64| 0.39 |—0.39] 0.39 | 0.39 | 0.39 | 13.37
—0.39]—0.39] 0.39 |—1.64] 0.39 |—1.64| 1.64 | 1.64 |—1.64|—1.64|—1.64| 1.64 |—1.64|—1.64|—1.64|—13.33
1.64 | 1.64 |—1.64| 0.39 |—1.64| 0.39 |—0.39[—0.39|—1.64| 0.39 |—1.64| 1.64 |—1.64|—1.64|—1.64|—12.68
1.64 |—1.64| 1.64 | 1.64 | 1.64 |—0.39|—1.64|—1.64|—0.39)—0.39| 1.64 | 1.64 |—1.64] 1.64 | 0.39 | 15.65
1.64 |—1.64| 1.64 | 1.64 | 1.64 |—0.39|—1.64|—1.64] 1.64 |—0.39/—0.39/—0.39| 0.39 |—0.39|—1.64| 1.59
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TR Ty Tk
EES
X, X, X, X, X 6 X X X, X X X, X5 X X5 Y
—0.39] 0.39 |—0.39)/—0.39|—0.39] 1.64 | 0.39 | 0.39 | 1.64 | 1.64 |—0.39]/—0.39| 0.39 |—0.39]—1.64] 10. 99
—0.39|—1.64|—1.64| 0.39 | 0.39 |—0.39] 0.39 |—0.39/—0.39| 1.64 | 1.64 | 1.64 | 1.64 |—1.64] 1.64 | 22.92
1.64 | 0.39 | 0.39 |—1.64|—1.64| 1.64 |—1.64| 1.64 |—0.39|—0.39| 1.64 | 1.64 | 1.64 |—1.64| 1.64 | 22.62
1.64 | 0.39 | 0.39 |—1.64|—1.64| 1.64 |—1.64| 1.64 | 1.64 |—0.39|—0.39/—0.39[—0.39] 0.39 |—0.39| 6.42
1.64 | 1.64 |—1.64| 1.64 | 1.64 [—0.39/—0.39| 1.64 | 0.39 | 1.64 | 0.39 |—0.39] 0.39 |—0.39| 1.64 | 18.01
1. 64 | 1.64 1.64] 1.64 | 1.64 0.39/—0.39| 1. 64 1. 64| 1.64 1. 64| 1. 64 1. 64| 1. 64 0.39| 3.82
—0.39/—0.39| 0.39 [—0.39]—0.39 64 | 1.64 |—0.39|—1.64|—0.39|—1.64| 1.64 |—1.64| 1.64 |—0.39] 9.27
0.39 1.64|—1.64|—0.39|—1.64|—1.64—0.39|—1. 64| —0.39]—0.39[—0.39|—1. 64| 0.39 1. 64| 0.39 0.71
0.39 |—1.64|—1.64|—0.39|—1.64|—1.64|—0.39|—1.64| 1.64 |—0.39] 1.64 | 0.39 |—1.64| 0.39 |—1.64| 0.62
—1.64] 0.39 | 0.39 | 1.64 | 0.39 | 0.39 | 1.64 | 0.39 | 1.64 | 1.64 | 1.64 | 0.39 |—1.64| 0.39 |—1.64] 10.63
—1.64|—1.64| 0.39 |—1.64| 1.64 64 | 1.64 | 1.64 | 1.64 |—1.64|—0.39] 0.39 |—1.64| 1.64 | 0.39 | 16.47
—1.64|—1.64| 0.39 |—1.64| 1.64 | 1.64 | 1.64 | 1.64 |—0.39|—1.64| 1.64 |—1.64| 0.39 |—0.39]—1.64] 2.33
0.39 | 0.39 |—1.64] 0.39 |—0.39/—0.39/—0.39|—0.39]—0.39| 0.39 | 1.64 |—1.64| 0.39 [—0.39|—1.64| 7.41
—1.64] 1.64 | 1.64 | 0.39 |—0.39] 1.64 |—1.64| 1.64 | 1.64 | 1.64 | 1.64 |—0.39]—0.39|—0.39]—0.39] 9.8
—1.64] 1.64 | 1.64 | 0.39 |—0.39] 1.64 |—1.64] 1.64 |—0.39| 1.64 |—0.39| 1.64 | 1.64 | 1.64 | 1.64 | 20.97
0.39 [—0.39]—0.39|—1.64] 1.64 |—0.39| 0.39 |—0.39/—0.39]—0.39]—0.39| 1.64 | 1.64 | 1.64 | 1.64 12. 8
—1.64|/—0.39|—0.39| 1.64 |—0.39] 0.39 | 1.64 | 0.39 |—1.64| 1.64 | 0.39 | 1.64 |—1.64|—1.64] 1.64 | —0.45
0.39 | 1.64 | 1.64 |—0.39] 1.64 . 64|—0.39|—1.64|—1.64|—0.39] 0.39 | 1.64 |—1.64|—1.64| 1.64 |—5.59
0.39 | 1.64 | 1.64 |—0.39] 1.64 |—1.64|—0.39|—1.64| 0.39 |—0.39|—1.64|—0.39 0.39 | 0.39 |—0.39|—2.07
—1.64] 0.39 | 0.39 | 0.39 | 0.39 |—0.39|—1.64] 0.39 |—0.39| 0.39 |—0.39)—1.64| 1.64 |—0.39]—1.64] 2.29
0.39 |—1.64|—1.64|—1.64|—1.64| 1.64 | 0.39 |—1.64|—0.39|—1.64|—0.39|—1.64] 1.64 |—0.39|—1.64|—6.87
0.39 |—1.64|—1.64|—1.64|—1.64| 1.64 | 0.39 |—1.64| 1.64 |—1.64| 1.64 | 0.39 |—0.39| 1.64 | 0.39 | 17.23
3. 15 R TR AR 10 DNBUIE TN B AT XE . A (s

— D g AR 10 WA TH S (E . X AR AT LS B 5
BE X RN T G, A9 3-S5 B b7 it b (TRl R W] LA B e 3. 13
T Sy BYMED I8 1 —E B9 @ DX SE T e A

— B LA A

K315 GI6FARMANSARINTHEEINE.0° ZBT 10 METTHTEHE
1 [2) 13 1y ts g t7 1g Lg tyy 2 :
Gy | 16.86|40.06 [ 21.09 | 24.3 |21.29| 1.99 | 21.2 | 16.75 | 5.28 | 36.16 | 20.5
G, |35.95| 0.97 | 14.1 | 0.45 | 818 | 15.01 | 7.62 |12.26 | 7.70 | 13.75 | 11.6

7o T A RCR AR R 2L FATDR T8 T U 23 A A 58 R

FEAR R

Ko AHER 313 RRT p=4JF . r=10 ANHPUE T (I N=210 REREAE) v (19 H
T 33016 FRW T HUBHE BT IAE R . K 3. 14 JE

1 P itk L 235
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JEn
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£3.16 %37 r=10 NHER Morris & H RS R 547

© @ o
X, 71. 644 55. 256 54. 648
X, 64. 290 64. 29 37.737
X, 88. 207 55.572 94. 737
X, 73.038 9. 310 91.918
X, 44.777 32. 874 55. 793
X, 45. 280 35. 187 44. 940
X 27. 039 27. 039 23. 594
X, 40.716 40.716 5.789
X, 40. 385 40. 385 6. 101
X 39. 706 39. 706 6. 400
X 5. 252 1. 232 6. 608
X, 4.324 1. 494 4.990
X 6. 268 0.922 7.892
X, 5.183 0.192 6. 845
Xis 8. 842 3.797 9.773
X6 6. 201 2.183 7.511
X 3. 389 —1. 335 4.291
X 4.903 —1.540 5. 338
X1 4. 989 —0. 766 5. 686
Xoo 3. 854 —2.407 5. 087
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4 RS

LRV . Tl o =201 1X,/(X,+0. D —1/27, [ARE i T80 K bR i 22 {8 1
Pt . a7 Xowee X RITA B BN A R OF B Lk Rt S
S WIS G A

8. 3. 17 KW T 2 ALY REAS 5500 B A9 a1 6L 1 B A 25 2R ARV AN T)
WRERE M T ZHLB By B B S BB HEHLA BLAY LN . 2 3. 18 JE7R T &4
WUy 10 DMHUE R TTRON | EE, (X)) | B 40l . 85 R WAEW] 74 3 DHSCH (G,
G, M GO IF BA — A 4% iy th A SR B R W (Gy) o X80 S8 IR 3 09 . il T 7
Gy (X100 X5 » Xoo 1 X)) HPA BRI 32 203500 55 B0 1R AR EL A T R R L 3% 3. 16)
BE GG 5 Gy BOMXEZNE RO T &% y #9454 15 A1 1 25k > b BURE 20 B 69
4R

R3.17 %38 r=10 N HERERE S
Xl XZ X.’% Xl X3 X(i XT XS XS! Xll) Xll Xl" Xlli Xll XIS Xl(i XIT XIS XIS) X2() Y

oo | 1|1 1/3 1|1 |1/3 0|0 |10 o0 [1/3]2/3[1/3|1/3] 1 | 0 | 0 | 58.28
oo | 1|1 1/31|1{1/30o| o010 |O 1|01 ]|1]1|0]O0/| 6824

tl 0| o | 1| 1 |1/3[1/3|1/3] 1 |2/3] 0 | 1|0 |2/3[ 1|0 |1 |111/3] 01| 0] 87.75
oo | 1 |1/3] 1 |(1/3[1/3] 1 |2/3] 0| 1] o0 |2/3 1|0 | 1|1 |1/3|2/3|2/3| 23.04
2/3|2/3|1/3|1/3| 1 |1/3|1/3| 1 |2/3|2/3|1/3|2/3]2/3| 1 | 0 | 1 | 1 |1/3]2/3]2/3| 63.61

1 |1/3(2/3| o |1/3|1/3|2/3| 1 |1/3|1/3|2/3[1/3|1/3| O |1/3| O |2/3| 0 | 1 |1/3] 81.50
/3 1 | 0| o |1/3]1/3]2/3] 1 |1/3| 1 | 0 | 1 |1/3| 0 [1/3] 0 [2/3] 0 | 1 [1/3] 38.17
t2(1/3] 1 | 0 | 0 |1/3[1/3|2/3] 1 |1/3] 1 | 0 | 1 [1/3|2/3] 1 |2/3] 0 | O | 1 |1/3| 47.28
/31 oo [1/3[ 1o |1/3] 1| 1|0 | 1|112/3]112/3]0[2/3] 1 [1/3| 43.58
/30 10 (2/3] 1| 1|0 {1/3] 1|1 0| 1|1 1|2/30112/3]0 |2/3[1/3] 1 | 72.56
1|1 (1/3] 0 |2/3| 0 |2/3|2/3|2/3| 1 | 0 | O |2/3] 1 |1/3] 0 | 1 | O [1/3|1/3]115.15
1|1 (1/3|2/3] 0 | 0 |2/3|2/3|2/3| 1 | 0 | O |2/3] 1 |1/3] 0 | 1 | O | 1 | 1 |116.45

ts] 1| 1 [1/3]2/3] 0 |2/3] 0|0 |0 | 10|00 |1 |1/3] 011 12/3[1|1] 9.06
1/3(1/3] 1 |2/3 2/31 0| 0| o0 |1/3(2/3|2/3| 0 | 1 [1/3] 0 | 1 |2/3] 1 | 1 |—50.12
1/3|1/3] 1 |2/3] 0 |2/3] 0 | 0 | 0 |1/3]|2/3|2/3| 0 |1/3| 1 |2/3|1/3|2/3| 1 | 1 |—48.06
0 [1/3] 0 [2/3|1/3]2/3] 1 | 0 | 1 | 0] O 1/3| 0 [2/3(2/3|2/3]2/3| 1 |1/3|—33.16

/

1
0 [1/3] 0 0 1 12/3] 1 0 1 0 0 1 |1/3| 0 |2/3]2/3(2/3|2/3]|1/ 1
te| 0 |1/3] 0 0 1 12/3] 1 0 1 0 0 1 11/3|2/3] 0 0 0 |2/3|1/3| 1 |—60.14
0 [1/3] 0 0 1 0 |1/3]2/3]1/3] 0 0 1 112/3] 0 0 0 0 |1/3] 1 |—132.66
1
/

2/3| 1 12/3] 0 1 0 |1/3]2/3|1/3]2/3|2/3|1/3| 1 [2/3| 0 0|01 011/3 81.88
1/3] 0 2/3] 0 | 0 |1/3|2/3|1/3|1/3| 0 |1/3|2/3|1/3] O |2/3] 1 1 |1/3(1/3|2/3[—118.82
1/3] 0 12/3] 0 | O 1 0 1 1 0 {1/3]2/3] 1 0 |2/3] 1 1 1 |1/3|2/3|—32.49

ts| 1 |2/3] 0 | 0| O 1 0 1 12/3| 1 0 1 0 |2/3] 1 1 1 |1/3|2/3| 30.46

1 12/3] 0 |2/3]2/3| 1 0 1 1 12/3] 1 0 1 0 12/3] 1 1 1 1 0 | 62.69

1 12/3] 0 |2/3]2/3| 1 0 1 1 12/3] 1 0 112/31 0 |1/3]1/3| 1 1 0 | 57.40
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TORLRE T Tk
s
Xl XZ X,i Xl XH XG XT XS X!} Xl(/ Xll Xlz X]I% Xll X]S X16 XI7 X18 le) XZ() Y
1/312/31 0 |1/3[1/3| 0 | 1 | 0 [1/3(1/3|2/3[1/3| 1 |2/3|1/3|2/3| 1 | 0 |2/3]|2/3|—49.84
1/312/3 0 | 1 | 1 |0 | 1]o0|1/3]1/3]|2/3|1/3| 1 |2/3|1/3|2/3| 1 | 0 | O | O | 36.19
ts| 1|0 (2/3 1|10 |10 |1/3/ 1|01 |1|2/3(1/3[2/3[ 1] 0] 0] 0] 86.51
110 (2/3] 1| 1 |2/3|1/3|2/3| 1 | 1 |0 |1 |1/3(2/3(1/3]2/3| 1 |2/3] 0 | 0 |104.25
100 (2/3) 1|1 |2/3{1/3]2/3| 1 | 1|0 |1 |1/3] 0| 1|0 |1/3|2/3] 0 | 0 | 97.56
o1 1]2/3{ 1| 1] 1 |1/3] 0|0 1/3|2/3|1/3| 0 |1/3[2/3| 1 |2/3| 1 |2/3| 1 |—13.28
o1 1]2/3 1|11 1|1/3]0/|01/3|2/3|1/3] 0| 1 |0 |1/3] 0 | 1 |2/3] 1 |—17.35
tz| 0 | 1 |2/3|1/3|1/3| 1 |1/3| 0 | o |1/3|2/3|1/3) 0 | 1 |0 [1/3] 0 | 1 | O |1/3] 25.31
2/311/3| 0 [1/3|1/3| 1 |1/3] 0o o | 1o |1 ]oOo |1 ]o0|1/3] 01|10 [1/3] 1.93
2/311/3| 0 [1/3|1/3|1/3| 1 |2/3|2/3| 1 | 0 | 1 [2/3| 1 | 0 |1/3] 0 [1/3]| 0 |1/3] 38.27
1/3[11/3] 0 | 0 | 0 |1/3]1/3|2/3|2/3|2/3|1/3|2/3|2/3| 0 |2/3|1/3| 1 | 0 |1/3|1/3|-103.13
111 1(2/3] 0| o0 |1/3|1/3|2/3|2/3) 0 | 1 | 0 |2/3] 0 |2/3]1/3] 1 | 0 |[1/3|1/3] 69.38
ts| 1] 1]2/3 0|0 |1 1]o|o]o|1|0]o0/|0/2/3/1/3]1 |2/3[1/3]1/3] 34.50
1112300 1|1 lo|oflo| 1|00 /|2/3[0]111/3]2/3]1/3|1/3] 32.28
1|1 (2/3|2/3(2/3| 1 |1 {00 ] O] 1]o0]|o012/3 0 1/312/3| 1 | 1 |—153.14
1/3] 1 [1/3]1/3]2/3]2/3]2/3|1/3| 1 | 1 | o | 1 |2/3|1/3]|2/3|2/3|2/3|2/3| 0 | 1 | 86.29
1/3| 1 (1/3]|1/3(2/3 0 | O | 1 [1/3| 1 | 0o | 1| 0 [1/3]|2/3]2/3]|2/3] 0 | O | 1 | 68.73
to|1/3] 1 [1/3]1/3]2/3] 0 | 0o | 1 |1/3) 1 |0 |1 |o |1 |o]Oo]|oO 0| 1] 60.16
1 |1/3] 1 (1/3]2/3| 0 | 0 | 1 |1/3(1/3]|2/3]{1/3| 0|1 |0 | O | O] O|O/|1]21.83
1 (1/3) 1 1o |o}| o 1]|1/3(1/3|2/3[1/3/ 0| 1| 0| 0| 0] 0 |[2/3/1/3] 43.05
1/3|1/3(1/3|1/3]1/3({1/3| 1 | 1 |2/3] 0 | 0 | O | O | O |2/3| 1 |2/3| 1 |1/3|2/3| 38.96
1/301/3(1/3] 1 | 1 [1/3] 1 | 1 |2/3] 0|0 |0 |0 /| O2/3 1 |2/3] 1|10/ 67.35
tof1/3|1/3(1/3) 1 | 1 | 1 |[1/3[1/3] 0 | O | O | O |2/3] 0 |2/3] 1 |2/3|1/3| 1 | 0 | —7.34
11 1 | 1|1 |1|1/3[1/3] 0 |2/3]|2/3]2/3|2/3| 0 |2/3| 1 |2/3|1/3] 1 | 0 [—205.31
T 1|1 |1 1|1 |1/3{1/3] 0 [2/3]|2/3]2/3]|2/3]2/3| 0 |1/3| 0 |1/3| 1 | 0 |—212.21
#3.18 IS HBIMABIMHENTRNENAIENE v (BRE—1T
=B 10 RETERNTEHE
G, G, G G
t 60. 87 97.07 14. 94 29. 27
t, 64.99 43. 47 13.67 5.55
t3 88.76 1. 95 3.09 161.09
¢ 321.81 50. 79 10. 31 108.78
t; 94. 42 48. 35 7.94 129. 50
15 75.48 129. 04 10. 04 26. 60
t; 35.07 63.99 6.11 54.51
tg 258.76 278.13 3.33 52.32
ty 57.49 31. 83 12. 86 26. 34
tio 296. 95 42.58 10. 36 112.04
n' 135. 46 78.72 9. 26 70. 60
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